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1. Prove the identity: cA GA
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5. ExpresA | @in terms of the first power of cosine. (Hint: Start by writhd @ AT @ .)
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Q: A man leaves home and, after making three left turns, he ends up back at home, and finds two
masked men waiting for him. What is happening?

6. Prove the identity:
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7. Prove the identity:OBd AT A Tad A GA
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8. Prove the identity:
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9. Prove the identity:
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10. Prove the identity:A OIA AT 10 AT 1O AOA
u
LHG = ¢sc « — Cot '
1 2 ! 2
= ((CCL'H' Cot'=t) (C“"““t =) D | +cot % = Csc <

2 _ L _¢ tld
= (CS(—‘A—\— cot a() (I) | = (sc o

1 1
= Cot At g

= RHS 7

11. Prove the identity: OERAT-0
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12. Prove the identity:O Acd O Ad ——
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